
•  Use the rear wall (4) of the housing as a template and mark the positions of the mounting holes at the wall
•  Drill the holes, place some dowels (not included) in the holes of the wall and fix the rear wall (4) of the housing at the wall
•  For mounting, place the bottom element (2) on a table or on the floor
•  Mount both side walls (3) with each 4 screws M5 x 10 to the bottom element (2) 

Please note: for the hinged side, you must use the side wall with the shorter inner steel edge, else the hinge will collide with the steel
•  Loosen the thread bolts of the hinges (7) and together with the rubber elements (8) place the hinges (7) on the glass plate (5); 

thereby the rubber elements (8) lay between hinge and glass plate
•  Carefully tighten the thread bolts without damaging the glass
•  Place the lock (9) in the prepared cutout in the glass plate (5) and put the latch into the correct position
•  Fix the lock carefully with the locknut without damaging the glass
•  Put the rubber elements (10) into the holes of the fold on the side wall (3) near to the lock
•  Mount the glass door in the frame
•  Mount the roof element (1) with each 4 screws M5 x 10 to both side walls (3)
•  Install the brush (6) resp. the cover in the openings of roof (1) or bottom (2)
•  Complete the housing by pushing it onto the rear wall (4) already mounted on the wall
•  Fix the rear wall (4) with the screws M5 x 10 in the rear-sided openings in the bottom
•  Mounting is now completed

Wall Housing Series Basic - Mounting Instructions

V3 - 09.08.18 - MN - E



•  Verwenden Sie die Rückwand (4) des Gehäuses als Schablone und markieren Sie die Positionen der Befestigungsöffnungen an der Wand
•  Bohren Sie die Löcher, setzen Sie ggf. Dübel (nicht enthalten) in die Löcher der Wand und schrauben Sie die Rückwand (4) des Gehäuses 

an der Wand fest
•  Legen Sie das Bodenelement (2) zur Montage auf einen Tisch oder auf den Boden
•  Montieren Sie die beiden Seitenwände (3) mit jeweils 4 Schrauben M5 x 10 an das Bodenelement (2) 

Achten Sie darauf, an der Scharnierseite die Seitenwand mit der kürzeren Innenkante einzusetzen, sonst kollidieren die Scharniere beim  
Schließen der Tür mit dem Blechfalz der Seitenwand!

•  Lösen Sie die Gewindestifte der Scharniere (7)  und platzieren die Scharniere (7) zusammen mit den Gummielementen (8) auf der Glasscheibe (5); 
die Gummielemente liegen dabei zwischen Scharnier und Glasplatte

•  Ziehen Sie die Gewindestifte vorsichtig wieder an, ohne das Glas zu beschädigen
•  Setzen Sie das Schloss (9) in die vorgesehene Aussparung im Glas (5) und bringen Sie die Schließzunge in die korrekte Position
•  Befestigen Sie das Schloss vorsichtig mit der Sicherungsmutter, ohne das Glas zu beschädigen
•  Setzen Sie die Gummidämpfer (10) in die Löcher der Falz der schlossseitigen Seitenwand (3)
•  Montieren Sie die Glastür im Rahmen
•  Montieren Sie das Dachelement (1) mit jeweils 4 Schrauben M5 x 10 an beiden Seitenwänden (3)
•  Befestigen Sie die Bürste (6) bzw. den Deckel in den Öffnungen des Dachs (1) oder Bodens (2)
•  Komplettieren Sie das Gehäuse, indem Sie es über die bereits an der Wand befestigte Rückwand (4) schieben
•  Fixieren Sie die Rückwand (4) mit den Schrauben M5 x 10 in den rückseitigen Öffnungen im Boden
•  Die Montage ist nun abgeschlossen

Wandgehäuse-Serie Basic - Montageanleitung

V3 - 09.08.18 - MN - D


